* % * k% * % * k% *x k% *x k% *x k* *x k% *k k* *x k*k * k* *k k% %k k *k k% *x k% *k k* *x k% *k k* *x k% *x k* *x k% *x * k% * *k * %k * *x % I

* % * k% * % * k% *x k% *x k% *x k* *x k% *k k *x k*k * k* *k k% *x k *k k* *x k% *k k *x k% *k k* *x k% *x * *x * *x * k% * *x * %k * *x % I

(X)) Y = F(X)
$
< >
X)) Window
B . >
< > Excel
Window

1
4
0

Window
Text (Xxx.TXT)

B & O

Window
Bitmap (xxx.BMP)

lm
N
\4



@ .

<

o e
D OWONMNRPOOOOMNOOUNOWNE X

(=Y
(3,1

>

>

111
4.324
9.8
16.26
229
20.43
16.8
12.1
8.3
59
2.345
-0.341
-48
-8.95
-3.689

TXT

Felvi) R0y
A= [ OnT hirey
m

*)
**)

c )y )

Excel



(**%)

@) ( ) ( ) (
2 Excel
Excel
TXT

TEST COM.TXT TEST SPC.TXT TEST TAB.TXT
Excel X\Y)

X 50 1000

1000 ( 1100 900
1150 850 )
50 - 1000
*kkkhkkkhkhkkkikhkhkhhkhkhhkhhkikhkkhhkhhkhkhhhhkhhhkhkkhhikhhhhkhhhikhikhhkk
X Y
50 31.0
60 34.8
70 379
80 405
100 447
120 49.7
140 54.7
160 59.5
180 63.9
200 68.1
220 72.0
240 75.6
260 79.1
280 81.2
300 823
330 83.8
360 85.3

390 86.7



430
460
500
540
600
650
700
750
800
850
900
1000
1100
1150
1200
1250
1300
1400
1500

88.1
89.5
90.8
92.1
93.3
93.9
94,5
95.1
95.6
96.0
96.4
96.7 <---
96.4 <---
96.0
95.6
95.1
945
93.3
90.8



